FH27FE KFTR>=7Hvh—)—4 HIRBAE

A H B R B F — LA =z 3
18:00 KEFC 0 x 2 ZMY=FFC KFEY=FFC
4A11H 19:00 vILRYHIRX 0 x 1 KFEY=FFC V=M FCYZTF
20:00 BFE+#FC 0 x 3 UV I=bBEMFCYZT? TILRYHR
18:00 UI=BLMFCY=F 2 x 0 FCHHYH M-CLUB
4R188 19:00 M-CLUB 2 x 0 XKFBY=FFC FCItY&%
20:00 FMI=—FFC 1 x1 H3I—¥-2=7 KFEY=TFC
18:00 W= MFCYZT x KFY=FFC FCItY&%
4R258 19:00 BFm+#FC X FCIHY&% TILRYHR
20:00 KFFC X EILRYHIR Brm+#FC
18:00 KFFC X S—¥.0=7 TILRYHR
528 19:00 ILRYIR X FCIHY&% b3y -7
20:00 M-CLUB X FM=F7FC FCIHY&%
18:00 M =7FC X ZILRYHR =Bl MFCYZT
5A9H 19:00 OWM=bEIFCYZT x KFFC M-CLUB
20:00 M-CLUB x FCIHY&% KFFC
18:00 BRFFm+#FC X KFFC b4 -7
5A16H 19:00 M-CLUB x HE—H-2=7F BRFFm+#FC
20:00 FCIHY®% x KFEY=FFC M-CLUB
18:00 M-CLUB x Brm+#FC KFY=FFC
58308 19:00 KFEY=FFC X ZM=7FC h3-4"-u=7
20:00 U= MFCYZT X hE—H-2=7 ZML=FFC
18:00 M-CLUB X EILRYHR RTm+#FC
6H6H 19:00 RTrm+#FC X HE—H-2=7 KFFC
20:00 KFFC X FCIHY®H h3-4"-u=7
18:00 ZM=7FC X RFO+¥FC KFFC
68138 19:00 KFEY=FFC X KFEFC M =7FC
20:00 HE—H-2=7 X ILRYHR KFEY=FFC
18:00 HE—H-2=7 X KFEY=FTFC M =7FC
68278 19:00 M =7FC X V=B FCY=7 ILRYHYR
20:00 TILRYHR x RIrm+#FC Of=blEMhFCY=T
18:00 TILRYIR X V=Bl FCY=7 ZMI=7FFC
7R4H 19:00 FCIHY% x ZM=7FC KFFC
20:00 M-CLUB x KFFC FCItY%
18:00 FCIHY% x HE—H-2=7F M-CLUB
7A11R8 19:00 M-CLUB X V=B HFCY=T Rfr+#FC
20:00 Rrm+#FC X KFEY=FFC ODI=BEMNFCYZT




